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QUESTION 1

How can you provide users access to an existing compartment? 

A. by granting users access to a compartment when the compartment is created 

B. by adding users to a group and defining a policy to provide the group access to the compartment 

C. by adding users to a compartment. All users in the compartment will have access to the objects in the compartment. 

D. by granting access directly to the user when the user is created 

Correct Answer: B 

 

QUESTION 2

You have an external facing web server running in the Oracle Cloud Infrastructure (OCI) London region. You are notified
that customers in North America and Australia are facing high latency while connecting to your web server. Which
services are available on OCI that can help you get current latency statistics to your web server from these markets? 

A. Use DNS Zone Management service to check latency over that connection 

B. Setup an IPsec VPN with customers in those markets and check latency over that connection 

C. Use the Internet Intelligence tool. Run tests using the web server\\'s public IP address review traceroute details from
different vantage points 

D. Setup a FastConnect with customers in those markets and check latency over that connection 

Correct Answer: A 

 

QUESTION 3

You are running a mission-critical database in Oracle Cloud Infrastructure (OCI). You take regular backups 

of your DB system to OCI object storage. Recently, you notice a failed database backup status in the 

console. 

What two steps can you take to determine the cause of the backup failure? (Choose two.) 

A. Ensure the database archiving mode is set to NOARCHIVELOG 

B. Ensure that your database host can connect to the OCI object storage 

C. Restart the dcsagent program if it has a status of stop or waiting 

D. Make sure that the database is not active and running while backup is in progress 

Correct Answer: AC 
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QUESTION 4

You are the Solutions Architect of a large company and are tasked with migrating all your services to Oracle Cloud
Infrastructure. As part of this, you first design a Virtual Cloud Network (VCN) with a public subnet and a private subnet.
Then in order to provide Internet connectivity to the instances in your private subnet, you create an Oracle Linux
instance in your public subnet and configure NAT on it. However, even after adding all related security list rules and
routes in the Route Table, your private subnet instances still cannot connect to the Internet. 

Which action should you perform to enable Internet connectivity? 

A. Disable "Source and Destination Check" on the VNIC of your Linux instance. 

B. There is no way that a private subnet can connect to the Internet. 

C. Create a Dynamic Routing Gateway (DRG) and route your private IP traffic to the DRG. 

D. Restart the NAT instance. 

Correct Answer: A 

 

QUESTION 5

Which two statements are true about adding secondary VNICs to an existing compute instance? (Choose two.) 

A. The primary and secondary VNIC association must be in the same availability domain 

B. You can assign an Ephemeral Public IP to a secondary VNIC 

C. You can remove the primary VNIC after the secondary VNIC\\'s attachment is complete 

D. The primary and secondary VNIC association can be in different virtual cloud networks (VCNs) 

Correct Answer: AB 

 

QUESTION 6

When terminating a compute instance, which statement is true? 

A. The instance needs to be stopped first, and then terminated. 

B. The boot volume is always deleted. 

C. All block volumes attached to the instance are terminated. 

D. Users can preserve the boot volume associated with the instance. 

Correct Answer: D 

 

QUESTION 7
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As the Cloud Architect for your company, you have been tasked with designing a high performance (HPC) 

cluster in Oracle Cloud Infrastructure (OCI). The following requirements have been defined: 

The cluster must be a minimum of three nodes, but may increase to six nodes when demand requires. 

The cluster must be resilient to any potential infrastructure failures. 

To minimize latency, all nodes must be deployed within the same availability domain (AD). 

Adding or replacing nodes within the cluster should take no more than 30 minutes. 

Which two steps should be performed to satisfy these requirements in OCI? (Choose two.) 

A. Deploy the cluster in a single AD with a shared file system that leverages the file storage service (FSS). Deploy a
standby cluster in another AD and configure it to use the same shared file system. 

B. Deploy the cluster in a single AD. Place each of the nodes in one of the three different fault domains in that AD. 

C. Create a backup of your HPC node compute instance boot volume. Launch new compute instances directly from the
backup reduce provisioning time. 

D. Create a custom image of your HPC node compute instance. Launch new compute instances using this image to
reduce provisioning time. 

E. Deploy the cluster in a single AD. Place each of the nodes in a different virtual cloud network (VCN) subnet. 

Correct Answer: AD 

 

 

QUESTION 8

Your on-premises hosted application uses Oracle database server. Your database administrator must have access to
the database server for managing the application. Your database server is sized for seasonal peak workloads, which
results in high licensing costs. You want to move your application to Oracle Cloud Infrastructure (OCI) to take advantage
of CPU scaling options. Which database offering on OCI would you select? 

A. bare metal DB systems 

B. VM DB systems 

C. Autonomous Transactions Processing (ATP) 

D. Autonomous Data Warehouse (ADW) 

Correct Answer: A 

Reference: https://cloud.oracle.com/database/faq 

 

QUESTION 9

Which two statements are true about policies? 
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A. You can use read, write, manage, and inspect as verbs for defining a policy. 

B. A policy is a document that specifies who can access which Oracle Cloud Infrastructure resources that your company
has, and how. 

C. Users need not do anything but still have to be added to a group with appropriate policies defined. 

D. You can deny access to a group via policies. 

Correct Answer: BC 

Reference https://docs.cloud.oracle.com/iaas/Content/Identity/Concepts/policies.htm 

 

QUESTION 10

Your company is developing a new database application in Oracle Cloud Infrastructure. You need to test 

application functionality including a hardware failure scenario. Since the application is still in the 

development phase, you want to minimize infrastructure costs. 

Which database service deployment option meets this requirement? 

A. two node real application cluster (RAC) system 

B. Autonomous Data Warehouse (ADW) system as it provides auto fail over functionality 

C. two node bare metal system with data guard enabled 

D. single node bare metal system 

Correct Answer: A 

Reference: https://cloud.oracle.com/iaas/whitepapers/oci_security.pdf (22) 

 

QUESTION 11

You have a shared file system between two web servers using File Storage Service (FSS) and you were tasked to
create a backup plan for this environment to protect the data placed into the shared file system. 

What is the recommended approach to create this backup using FSS features? 

A. Implement a backup policy to execute a snapshot of the shared volume. 

B. Implement a backup policy to copy data from the shared volume to object storage. 

C. Compress the data that is in the shared volume and copy it into a different folder on the boot volume disk. 

D. Use the rsync tool to send data from the shared volume to a boot volume disk. 

E. Use the rsync tool to send data from the shared volume to a block volume. 

Correct Answer: A 
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QUESTION 12

You are responsible for creating and maintaining an enterprise application that consists of multiple storage volumes
across multiple instances. The storage volumes include boot volumes and block volumes for your data storage. You
need to create backups of these storage volumes in the most time-efficient manner. How can you meet this
requirement? 

A. You can create clones of storage volumes one at a time 

B. You can group together multiple storage volumes in a volume group and create volume group backups 

C. You can create on-demand one-off backups of boot volumes, but not block volumes 

D. You can create on-demand one-off backups of block volumes, but not boot volumes 

Correct Answer: D 

Reference: https://cloud.oracle.com/storage/block-volume/faq 

 

QUESTION 13

Where are DB Systems backups stored by default? 

A. ASM disk group 

B. locally attached NVMe on virtual machine 

C. block volume 

D. object storage on Oracle Cloud Infrastructure 

Correct Answer: D 

 

QUESTION 14

Which two features are offered natively on Oracle Cloud Infrastructure Database Cloud Service (DBCS)? (Choose two.) 

A. Data Guard in Async mode within a region 

B. GoldenGate replication between two regions 

C. Data Guard in Maximum Protection mode 

D. backup to Object Storage 

Correct Answer: CD 

 

QUESTION 15
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Which statement is true regarding Autonomous Transaction Processing (ATP)? 

A. A database name cannot be used concurrently for both an Autonomous Data Warehouse (ADW) and an ATP
database 

B. After terminating a database, the database name is available for immediate reuse 

C. A maximum of 8 cores can be enabled for an ATP database 

D. A maximum of 2 TB of storage can be enabled for an ATP database 

Correct Answer: A 

Reference: https://docs.cloud.oracle.com/iaas/Content/Database/Tasks/adwcreating.htm (See note) 
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